N & o & AF & H Al A
2018 = 2 5 UutgH slEs
2AH: 3ES
FM: 3l8s A
& FURX CEE-ED
£ Y- HA(S) - NRMY - BES Ofl & oH JEH Hns2Z
=S 348,165 363,446 A 15,281
IS AZ I 254,506 263,933 A9,427
S DNPN| 77,014 78,100 A 1,086
FOURMXNEEH 29 77,014 78,100 A 1,086
201 L2l 30,840 31,700 A 860
02 22224l 40 900 A 860
OFQXXMYH &AM SA 22/ 40 900 2860
301 L2 A3 18,780 19,000 A 220
1MIIEES S 10,780 11,000 A 220
OFQUXXMEH KNASAIH(REH,S4HI)
11,0003 * 4H » 245¢ 10,780 11,000 A 220
405 THabH S| 27,394 27,400 A6
01 XAt = ZFH SH| 24,994 25,000 A6
OFQUXXHEEH A7 2 24,994 25,000 AB
Fo=Ho A 165,856 171,193 N5,387
LHHHXE 71,356 73,893 A2,537
202 O4dl 9,400 10,600 21,200
01 = LHA YI 9,400 10,600 21,200
LLHHAFEZEHRFENHI 7,000 7,900 A 900
OAMASXNILFE Y| 2,400 2,700 A 300
401 AIEHIZ 28I 25,114 26,330 21,216
01 A& tl 25,114 26,330 21,216
OF0HdH XNFHIIS(HH) EH 3A 10,864 11,200 A 336
OFQHIE EAAZS A 14,250 15,130 A 880
405 TtHabF S| 5,749 5,870 A 121
01 AL EFFHSHI 5,749 5,870 A121
oI #¢ 999 1,000 A
Osloa 810 ¢ 880 1,000 A 120
FUESEY 94,500 97,300 A2,800
301 LEtE A= 94,500 95,800 A 1,300
05 SE-0% RS2 91,500 92,800 A 1,300
Os&E+2 ¢ &3t 91,500 92,800 21,300
-S&¥IgELE Y 12,860 13,440 A 580
-s&¥2% 8§ dA=E 240 960 AT20
302 OI=LTHOHE & = 0 1,500 A 1,500
02 IQITHOH A =R ESENS 0 1,500 A 1,500
OMH=ERHAL 243 0 1,500 21,500
KSR ITAY 11,636 14,640 A 3,004
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SN FH-SA(EN) - MBAY - BES 0l &k o4 p/E-E" Hl DS 2
NI A 11,636 14,640 A 3,004
101 @14 Hl 6,636 9,640 A 3,004
04 JIZHHZ2XNEE S 6,636 9,640 A 3,004
OSESIIXedI+=H 2
60,2403 = 10H = 03l 0 2,410 A2,410
OZA&ZFs o= 1,816 2,410 A 594
HY2FZH (BSS) 93,659 99,513 N5,854
Jl= &l 93,199 99,053 N5,854
JlE&l 93,199 99,053 A5,854
201 ¢er24| 43,839 48,093 AN4,254
02 =224l 25,059 29,313 AN4,254
O3 & HA 25,059 29,313 A4,254
—SOoIFHIAIAE & CCTVZ 2l
180,000& * 123 2,160 2,400 A 240
— &AL &5t2el 9| 80,000& = 12& 960 1,200 A 240
-RERS 470,000& = 122 5,640 6,600 A 960
—UBSHE GRS L LU
2703 * 3,000AI CH 810 1,350 A 540
- EAEIIRS 650,000& = 12& 7,800 9,000 A 1,200
-de =30 &8I1e3 100,000& * 128 1,200 1,500 A 300
-g3NERE=S 0 200 2200
—ANEE NESRERES 150,000 * 13| 150 160 A 10
- HEXHE XN AHEE B2
38,000& = 1CH = 128 456 1,020 A 564
202 Odl 37,440 39,000 A 1,560
01 = LH 4 Hi 37,440 39,000 A 1,560
OJIegRF& 37,440 39,000 A 1,560
203 YR =& 10,120 10,160 A40
02 It =& 520 560 A 40
OISR F= &Y 40,0003 = 13¥ 520 560 A 40




